d |p|| [Pb/GeV?]
o

t,had
H
o

o

2 y
dc/de

1074

Ratio to ATLAS

0.5

13000 GeV pp

= | | | T I | I -
L t |
POOUIOt (ATLAS semileptonic ttbar)
= m  ATLAS E
— --©O-- Herwig++ 2.7.1 default -
— --id-- Herwig 7.2.1 default ]
— —&— Pythia 8.308 default _
—- Pythia 8.308 vincia-default

— Sherpa 2.2.5 default =

| | | | | | | | | |
I T i | T i ! i | =
| . i

l \\\\\ \I?“i\\\\\ ................ ‘ l

0 200 . 400

,na Jhad .
Ip_,. | [GeVl], p=™" in[200,300] [GeV]

Rivet 3.1.10, = 100k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


